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6 by 6 Killer Sudoku

-———— L Rt el A r=———— bl Rkl sl 1 Fe——— A rm———— bl Ll el Bl Rl el
1 1 1 if 1 1 1 1 I if
1 1 1 if 1 1 1 1 I if
1 [ it g 1 1 it [N B g
1 Hro 1t gt 1 1 it [N B g
1 [ it gt 1 1 it g g
" "._lu” ||||||||||| 4 " "._|4|. |||||||||||| 4 " " " "._|J |||||||||||| 4 ._lJ ||||||||||||
1 T s a1 1T s - 1 1 - At e -
1 1 1l il 1 1 1 N 1h
1 1y A i 1 1 1 3 1h
i i T il ' i i i HE
IR H e i “ e e i) e
Ao A A 1 R 1 A L] R A1 [ ER S S S
————— q|a==—————f—-——— L] “ “ 1 == L] r-———— Aa|lr=-—-——— Bl I et Al mm————-
1 1 1y N “ HE 1 1 [l 1 “ “ 1 i
i ik ! i HE i i N o K i
1 1 1
“ ! oo AFEI FE=R “ “ 2 H |
LI 1 A 1

! | EE-e P 7] R H R 4l ! ! Al [ P 1 g ---o-- 41
1 [ B I L a1t 1 1 [ [ B At " ————— Al
1 1 1 1 1 it 1 1 1
1 1 " " " " 1 1 1 1 1 " " 1 ! " " 1
1 1 1 K 1 1 1 iy v “ f HE
1 1 1 1 1 1 1 1 1
o o i 2 " A | AR | |
LA L R D N FIEORRI R ] FR 4 ! ] . 1| [ R HE 1!
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII 1 1 PR —— - 1

Hi | : N T

i ifr 1 " " 1 L ! ! "

1 I if 1 H HE “ 1 1 “ “ H
o i< lie “ _ e [ | F E
~— ~— 1 1 ~— 1
.............. ol L Rt | LRt & ! i [ LT ] H H ] Lttt

T T T

|||||||||||||| At e g 1 FIESpa—— e ———— -

[} I 1 “ 1 “ “ 1 1! 3 N

1 1, 1 1 e ! 4R

[} I 1 1 1 1 ! 4R

e i ; = HH i |

1 1

LS R e ] K AR I CAN RIS AR L I

Fill in the numbers 1 to 6 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers

of a cage.
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Answers

Fill in the numbers 1 to 6 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

1 16 514 3 |2
2 (4 |3 |5]1 16
501 161312 |4
4 13 121116 |5
6 5 112 4|3
312 416 5|1
4 16 (21531
3 /5|1 ([4 26
2 3 /416 |15
511 |6 (3 4]2
1 14 [512]6]3
6 2 |3 (1 54
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